
Notation Scientifique (E)Écrivez chaque nombre ci-dessous en notation standard.
1,037 × 10⁻⁶ = 9,14 × 10⁻⁷ =
9,52 × 10⁻³ = 2,36 × 10⁻⁸ =
4,03 × 10⁻⁶ = 1,614 × 10⁻⁸ =
7,07 × 10⁻³ = 4,173 × 10⁻⁵ =
3,98 × 10⁻⁵ = 7,682 × 10⁻⁵ =

2,328 × 10⁻⁸ = 9,804 × 10⁻⁷ =
7,33 × 10⁻³ = 9,68 × 10⁻⁵ =
8,5 × 10⁻³ = 6,4 × 10⁻⁶ =

2,94 × 10⁻³ = 1,3 × 10⁻⁵ =
3,74 × 10⁻⁷ = 7,29 × 10⁻⁵ =
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Notation Scientifique (E) SolutionsÉcrivez chaque nombre ci-dessous en notation standard.
1,037 × 10⁻⁶ = 0,000001037 9,14 × 10⁻⁷ = 0,000000914
9,52 × 10⁻³ = 0,00952 2,36 × 10⁻⁸ = 0,0000000236
4,03 × 10⁻⁶ = 0,00000403 1,614 × 10⁻⁸ = 0,00000001614
7,07 × 10⁻³ = 0,00707 4,173 × 10⁻⁵ = 0,00004173
3,98 × 10⁻⁵ = 0,0000398 7,682 × 10⁻⁵ = 0,00007682

2,328 × 10⁻⁸ = 0,00000002328 9,804 × 10⁻⁷ = 0,0000009804
7,33 × 10⁻³ = 0,00733 9,68 × 10⁻⁵ = 0,0000968
8,5 × 10⁻³ = 0,0085 6,4 × 10⁻⁶ = 0,0000064

2,94 × 10⁻³ = 0,00294 1,3 × 10⁻⁵ = 0,000013
3,74 × 10⁻⁷ = 0,000000374 7,29 × 10⁻⁵ = 0,0000729
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